
10

(21.15)

16
6

166

80
105

6080

10
10

10
4

o16
6126

M10

Description    Weight Product No.
Footplate, corner left    1,873 g 21.15.20.L

Footplates for pipes
corner left

Technical data 
material: steel, black

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
4 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Footplates

https://rodavigo.net/es/c/f/maytec

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



11

(21.15)

o16
6

10
4

126

M10

16
6

166

80
105

6080
10

10

Description    Weight Product No.
Footplate, corner right    1,873 g 21.15.20.R

Footplates

Technical data 
material: steel, black

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
4 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Footplates for pipes
corner right

https://rodavigo.net/es/c/f/maytec

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



12

(21.15)

126o166

M10

16
6

166

80
105

6080 10

Description    Weight Product No.
Footplate, center    1,305 g 21.15.20.MH

Footplates for pipes
center

Technical data 
material: steel, black

Footplates

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
4 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

https://rodavigo.net/es/c/f/maytec

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



13

(21.15)

126o166

10
4

M10

16
6

166

80
105

6080 10

Technical data 
material: steel, black

Description    Weight Product No.
Footplate, center with post    1,766 g 21.15.20.MHV

Footplates for pipes
center with post

Footplates

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
6 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

https://rodavigo.net/es/c/f/maytec

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118



14

30.15

61
51

80
80

105
10

5 51

61

60

80

60

80

10
4

o4
5

o188

4

Ø10

Footplate for square

Technical data
material: steel
surface: black, powder-coated

Description Weight Product No.
Footplate for square 45, corner 2,180 g 30.15.20

Application
for
• steel pipe square 45×45
• profi le 45×45 

Fastening elements

Description Weight Product No.
Set screw M10×12, with cupped gripping point, black 4.0 g 0.63.0916.10012.1 
1 pcs. per footplate required

Description Weight Product No.
Mounting set for castors 16.8 g 30.15.S1
4 sets per castor required

Single parts of the mounting set

Description Pcs. Weight Product No.
Socket head cap screw DIN 6912, M8×20 1 10.0 g 0.63.D06912.08020 
Washer DIN 433 - 8.4 1 1.3 g 0.62.D00433.08,4
Self locking washers, M8 1 1.5 g 0.62.D2520108 
Hexagonal nut DIN 934 - M8 1 4.0 g 0.61.D00934.08

Description Weight Product No.
Mounting set for footplate with 45 mm square 39.0 g 30.15.S2
4 sets per footplate required

Single parts of the mounting set

Description Pcs. Weight Product No.
Hexagonal screw DIN 931, M8×70 1 31.0 g 0.63.D00931.08070 
Washer DIN 125 - 8.4 2 1.6 g 0.62.D00125.A08,4
Hexagonal nut DIN 985 - M8, self-locking 1 4.8 g 0.61.D00985.08

Footplates

https://rodavigo.net/es/c/f/maytec

Polígono Industrial O Rebullón s/n. 36416 - Mos - España - rodavigo@rodavigo.com

Servicio de Att. al Cliente
+34 986 288118




